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Project # 4 Due: Oct 29, 2009
1. Exercise 6.1 (b), (c), (d) and (e)

2. Exercise 6.3 (a), (b) and (c)
3. Consider the following variant of Tic-tac-toe: As in the usual version, players alternately place X and O on the squares. After both players have placed three Xs and three Os, if the game is not over, the players will start moving their X or O to a neighboring square. The game thus proceeds indefinitely until one of them wins (by aligning their X’s or O’s along a row, a column or diagonal.) Using the heuristic presented in class for Tic-tac-toe, expand the game tree from the following starting position for two plies and determine the optimal move for player X. The current position is shown below:
                                X   _   O

                                O   X   _

                                X   _    O
